used to

I used to play the piano
I used to play


I didn’t use to play


Did I use to play?

You used to play


You didn’t use to play 

Did you use to play?

He /She/It used to play

He/She/It didn’t use to play
Did he/she use to play?

We used to play


etc...




etc...

etc,,,




I used to play the piano. I don’t play now.
We use used to + infinitive for finished habits and situations: things that were true in the past, but are not now. 

(used to is not really a modal verb: we make questions and negatives with did.)

1. Make sentences about people hundreds of years ago. Begin the sentences like this:

 (Most) people used to...   or (Most) people didn’t use to...   or A lot of people used to...

be farmers...........................Most people used to be farmers.


have cars............................People didn’t use to have cars.

travel on foot or on horses

go to school

learn to read

cook on wood fires

live very long

work very long hours

To talk about the present habits and situations, we use the simple present, NOT use to
e.g.: I play a lot of tennis. (but NOT I use to play tennis.)
2. Make sentences about past and present habits and situations.


John / rugby / tennis...........................John used to play rugby. Now he plays tennis.

Ann / study / German / French

Bill / live / London / Glasgow

Mary / read a lot / TV

Joe / driver / hairdresser

Alice / coffee / tea
Peter / lots of girlfriends / married
3. Make questions about a very old person’s past.


where / go to school..............................Where did you use to go to school?

have dark hair..................................................Did

play football

enjoy your work

go to a lot of parties
4. Write some sentences about your past habits.
so do I  /  neither do I
When we want to say that A is or does the same as B, we can use this structre:


so + auxiliary verb + subject

Look at these examples and pay attention to the word order:
A: ‘I’m hungry.’

A: ‘Paul has failed his exam.’

A: ‘They can run fast.’

B: ‘So am I.’


B: ‘So has Jennifer.’


B: ‘So can we.’

In these examples we only have to repeat the auxiliary verb in the sentences (‘m, has, can). 

BUT when there is no auxiliary verb to repeat, (because we are using an ordinary verb) we use 
do / does / did.

1. Complete the sentences, use so.
My job is exciting. (mine)............................So is mine.
I see ghosts in the dark. (I).........................So do I.
Ann is very interested in history. (Alice) ...............

My father plays golf all day. (my father)

I can swim under water. (I)

Peter wants a bike for Xmas. (Mary)

Joe has just got married. (Eric)

Susan has finished work. (I)

In negative sentences, we use neither + auxiliary verb + subject.

A: ‘I’m not working today.’

A: ‘Julie can’t drive.’

A: ‘Sue doesn’t like the teacher.’
B: ‘Neither am I.’


B: ‘Neither can Annie.’
B. ‘Neither does Oscar.’
2. Complete the sentences, use neither.

Messi didn’t play very well, and (the others)...........neither did the others.
The soup wasnt wery good, and (the meat)

Bill hasn’t phoned yet. (Annie)

This dictionary doesn’t show pronounciation. (this one)

I can’t cook! (I)

His parents won’t help him, and (his friends)
3. Complete the sentence. Use so  or  neither .
The green apples aren’t very sweet.
(the red ones)
My father works too hard. (my father)

My car doesn’t use a lot of petrol. (my car)

Mary has passed all her exams. (her sister)

Some dogs can understnad orders. (our dog)

The bus takes a long time to get to London. (the train)

The front door wasn’t  open. (the back door)

Her first book didn’t sell very well. (her second one)
